St Denys Primary School

Spellings and Times Tables

Week beginning:
th
\ 8™ June 2020 /

Creativity, Choice, Challenge
Achievement for All




Year 5 - School Closure - Home Learning

Whilst we are not expecting you to replicate school at home, it will
be important that you all try to do some work each school day to
keep your skills up.

And don't forget to stay active!

As you will already know, schools are not yet open for Year 5
children. Here are your new spelling words and daily challenges for
Time Table Rockstars.

There is also a Y5/Y6 joint work booklet that you will be able to
collect from the school foyer each Monday. This booklet will also be
available to download on our school closure webpage.

Each morning I will still be saying 'Hello' on the Class Story page on
the Class Dojo app. You'll also be able to ask me any questions or
just tell me about what you have been up to! As I will be in school,
remember I might not be able to respond straight away. You will
still be able to post things to your Class Dojo portfolio but it might
not always be me who approves and leaves comments for you.

We will keep you informed if there are any changes to any of this.

Mr Baker




Practice Sheet
Term 3 Set 2 Week 6

Spelling patterns homophones and near-homophones, extension
Miss Seed led an interesting
= discussion about that new television
serial we’ve been watching.

Spellings Write Write Cover and write Cover and write

led
lead
baron

barren
bridal

bridle
cereal

serial

morning

mourning

Total /10
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Activity Sheet

Term 3 Set 2 Week 6

&)

What do you think the children would say if
they had to use the words in the boxes?

cereal
[ \
serial | Y J

PAWS
| N

| A
allowed | X o J
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Activity Sheet
Term 3 Set 2 Week 6

The wrong homophones have been used
in the following sentences. Write the correct
homophone for each sentence.

We had to walk father to school because of the roadworks. ..................
To do the shading, | need a pencil with a softerled. ..................

I'm looking forward to my desert of apple pieand cream. ..................
He past the ball back to the goalkeeper. ..................

| thought conkers had been band in schools. ..................

I'm going to play Barren Hardup in the school panto. ..................
There’s one serious floor toyourplan. ..................

The gingerbread man lost a currenteye. ..................

We had to walk through a heard of cows to cross the field. ..................
The bridle dress was pink rather than the traditional white. ..................
You must have nerves of steal to go bungee jumping. ..................
Don't fall fowl of poor internet security. ..................

We're not aloud in the school library during lunchtime. ..................
The new television cereal attracted five million viewers. ..................

The squad for the football match has been posted on the bulletin bored.

SPELLING YEAR 5
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Homophones 2

Can you find each of the spelling words in the word search?

NEJXFLPCNE
OBRIDLEBHM
RPTLGRIOGN
A RFAEOKNNE
BKWAQATIULR
SALQBNDDAR
GNINROMRIA
DSGULADIRB
DEOCLUZIET
RMLHYCVMSJ]
LED LEAD
BARON BARREN
BRIDAL BRIDLE

CEREAL SERIAL

MORNING MOURNING




Name:

Week 2 Session 1

Times Tables

2,3,4,5,6,7,8,9,10,11,12 2019-20
Times Tables Year 5 Summer (2)

Rock Stars
Licensed to St Denys Primary School
1 2x12=
2 11x1=
3 12x7=
4 10 x 8 =
5 9x5=
6 3x7=
7 2x7=
8 8x5=
9 12 x 10 =
10 9x5=
11 7%x12=
12 7%x10=
13 10 x 3 =
14 2X6=
15 4x2=
16 8xX6=
17 8x9=
18 6x9=
19 11x 8=
20 2%x8=

21

22

23

24

25

26

27

28

29

30

31

32

33

34

35

36

37

38

39

40

5 aweek
5x8= 41 1x12=
6 x 10 = 42 10x 11 = Time taken
4x7= 43 2x2=
- - 3 minute time limit &
I9x7= 44 6X5=
- E— Score
7x11= 45 8x12=
5x 8= 46 1x3= 60
11x1= 47 8 x 4=
E— E— What's your rock status?
2x3= 48 7x11=
3x9= 49 4%x2= < 18 correct in 3 mins
T T <R Rocky
7x8= 50 12x7 = 18-19 correct in 3 mins
5x12 = 51 4x12 = 20-21 correct in 3 mins
R
11 x4 = 52 1x3= 22-24 correct in 3 mins
C UNAKNED AT
5x11 = 53 8x5= 25-29 correct in 3 mins
BRTAKTHROUGH ARTIFT
2x7= 54 10 X 4 = 30-35 correct in 3 mins
5% 2= 55 12 x5 = 36-44 correct in 3 mins
HEADUNER
5x11= 56 2X3= 45-59 correct in 3 mins
4 x5 = 57 2x11 = All correct in < 3mins
o<k LEGEND
8%x2= 58 7 X2 = All correct in = 2min
7%X8= 59 11 x 10 = All correct in = 1 min
2x11= 60 1x3= ,
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Name: Week 2 Session 2

Times Tables 2,3’4,5’6,7’8,9’10,11’12 2019-20
. Year 5 Summer (2)
Rock Stars Times Tables 5 3 week
Licensed to St Denys Primary School
1 13 25 37 49
9| 99 11 |110 5| 25 2| 18 6| 42
Time taken
2 14 26 38 50 :
5135 10 1100 9] 90 7] 35 4128 3 minute time limit
3 15 27 39 51 Score
9| 99 11 | 33 10 | 20 11 121 4 4
4 16 28 40 52 60
51| 35 11| 77 6 | 60 12 | 60 8| 80
What's your rock status?
5 17 29 41 53
10 | 50 6| 36 5| 25 5] 25 10 | 30
< 18 correct in 3 mins
6 18 30 42 54 ) ADAZE BeAAkED
2 24 4| 48 12 72 11 44 2 8 18-19 correct in 3 mins
7 19 31 43 55 20-21 correct in 3 mins

10 | 20 11 |110 11 1121 7| 28 11| 77 444t

22-24 correct in 3 mins

8 20 32 44 56 UNFGNED A<

L

25-29 correct in 3 mins

BRIAKTHROUGH

30-35 correct in 3 mins

FUPPORT ACT
12 96 7 28 3 21 2 18 3 36 36-44 correct in 3 mins

HEADUNER
10 22 34 46 58 45-59 correct in 3 mins

5 10 7| 63 9| 63 5 60 8| 24 RY¢

All correct in < 3mins

11 23 35 47 59 o<l LEGEND

All correct in < 2min

All correctin = 1 min

2| 22 3] 18 7| 49 9| 27 3| 27

10| 30 8| 56 4| 40 3 6 11| 55

12 24 36 48 60
8| 96 4| 24 2| 20 7] 21 12 | 72
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Name: Week 2 Session 3

Times Tables 2,3’4,5’6,7’8,9’ 10,11’ 12 2019-20
. Year 5 Summer (2)
Rock Stars Times Tables 5 3 week
Licensed to St Denys Primary School
1 12 13 8 25 11 37 6 49 2
X 8 X 7 x 11 X 2 X 5
- . o . . Time taken
2 10 14 3 26 4 38 7 50 7
x 7 X 9 X 9 X 12 X 3
3 minute time limit &
3 5 15 2 27 5 39 3 51 12 Score
x 11 X 3 X 5 x 1 x 10
4 12 16 10 28 6 40 6 52 9 60
x5 x 7 X 5 x 1 x 11
What's your rock status?
5 7 17 2 29 12 41 6 53 11
X 5 X 12 x 1 X 4 X9
< 18 correct in 3 mins
6 5 18 3 30 11 42 5 54 7 CADACE DodkEn
X3 X 4 X5 x 11 x 10 CARAGE RO Iﬁ‘Eﬁ
18-19 correct in 3 mins
7 6 19 10 31 3 43 11 55 3 20-21 correct in 3 mins
X 4 x 8 x 12 x 1 x 3 LILLED
G44ER
- - - 22-24 correct in 3 mins
\ /\’ \/" :/ ‘J’ ~
8 2 0 6 3 12 a4 56 6 UNAAGNED AT
x 11 X9 X 8 X 4 x 11 25-29 correct in 3 mins
BRUAKTHROUGH ARTIST
30-35 correct in 3 mins
9 10 21 5 33 4 45 11 57 10 SIDDADT AdT
x 11 X9 X7 X 2 x 8 FUPPORT
36-44 correct in 3 mins
T o o HEADUINER
10 5 22 8 34 4 46 8 58 7 45-59 correct in 3 mins
x 10 X 3 X 12 x 11 X 4 Adle £TAD
o<k #TAR
[ - - . o All correct in < 3mins
1 12 23 3 35 8 a7 12 59 2 o<l LEGEND
X9 x 11 X 12 X 6 X 1 All correct in < 2min
All correct in < 1 min
12 11 24 8 36 8 48 12 60 8 - -
x 10 X 5 X 6 X 4 X 2 TUMES TABLES
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Name: Week 2 Session 4

Times Tables 2,3’4,5’6,7’8,9’10,11’12 2019-20
. Year 5 Summer (2)
Rock Stars Times Tables 5 3 week
Licensed to St Denys Primary School
1 22 +11 = 21 81+9= 41 40+10=
2 18+9= 22 14+2= 42  44+4= Time taken
3 18 +2= 23 24 + 6 = 43 120+ 10=
— E— E— 3 minute time limit &
4 132+11= 24 40 + 4 = 44 63~ 7 =
- - - Score
5 16 + 2 = 25 88 + 8= 45 90 +9 =
6 4+2= 26 72+9= 46 8+4= 00
7 4 +2 = 27 27 + 3 = 47 5+5=
- E— E— What's your rock status?
8 6+6= 28 24 + 2 = 48 18~ 6 =
9 8+8= 29 48 + 4 = 49 4+ 4= < 18 correct in 3 mins
T T T A edh
10 88 ~ 8 = 30 12 ~ 4 = 50 45 + 5 = 18-19 correct in 3 mins
11 48 + 6 = 31 144 + 12 = 51 10 =2 = 20-21 correct in 3 mins
B B T 4K&ER
12 24 + 8 = 32 30+3 = 52 54 +9 = 22-24 correct in 3 mins
I T T UNSKNDD AT
13 15 + 3 = 33 56 + 8 = 53 27 +3 = 25-29 correct in 3 mins
o o T BREANTHROUGH ARTIST
14 55 ~ 11 = 34 49 ~ 7 = 54 33 -3 = 30-35 correct in 3 mins
15 27 +3 = 35 55 + 5 = 55 48 ~ 12 = 36-44 correct in 3 mins
HEADUNER
16 72 -8 = 36 12 + 4 = 56 36+ 6= 45-59 correct in 3 mins
17 48 + 4 = 37 42 ~ 6 = 57 120 +12 = All correct in < 3mins
* — T Rodk LEGEND
18 21 ~7 = 38 3+3= 58 144 = 12 = All correct in < 2min
19 36+9 = 39 30+5= 59 24 +~ 8 = All correctin = 1 min
TGS TABLES
20 88 +11= 40 88+11= 60 18 +9 = ’

©Maths Circle Ltd 2020



Name:

Times Tables
Rock Stars

2,3,4,5,6,7,8,9,10,11,12
Times Tables

Week 2 Session 5
2019-20

Year 5 Summer (2)
5 a week

Licensed to St Denys Primary School

1

9

10

11

12

13

14

15

16

17

18

19

20

10 x 8 =

8x4=

11 x 11 =

6x7=

8x1=

10 x 8 =

8x1=

4x7=

12 x 10 =

5x5=

6X2=

3x4=

7x10=

4X6=

9x8=

4%6=

4x4=

3x9=

3x10=

5x6=

21

22

23

24

25

26

27

28

29

30

31

32

33

34

35

36

37

38

39

40

8x4=7 41
12><3=7 42
lix2= 43
9x7=7 44
6x2=7 45
3x9=7 46
5><12=7 47
11x11=7 48
5x4=7 49
2x1=7 50
12+6=7 51
50+10=7 52
11+11=7 53
20+7= 54
40+4= 55
12+4=7 56
55+11=7 57
20+10=7 58
12+6=7 59
44 + 4 = 60

©Maths Circle Ltd 2020

12 +3 =

80 +8=

45 +5 =

16 -8 =

40 + 8 =

8l +9=

15+5=

108 + 9 =

77 + 11 =

27 +9 =

10+5=

48 + 6 =

54 -6 =

81+9=

22+2=

18 +2=

132 + 11 =

42 + 7 =

Time taken

3 minute time limit &

Score

60

Add up your time

Mins
S1
S2
S3
S4
S5

Total

Secs
S1
S2
S3
sS4
S5

Total

Add up your score
S1
S2
S3
S4
S5

Total
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